KEY

Math 254, Quiz #2, Summer 2012

Instructions: Show all work. Give answers in exact form unless the problem begins with decimals.

¢t Find the velocity, speed, acceleration and jerk of a particle traveling alongthe:
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Evaluate each derivative at the specified point.

/{+> ( C@S%)( % SW\‘\’“ 3 ’{_-“ S‘V\‘t =17 wh.x/w’t= 1y
"('{?‘)m &ﬂ*} + CQ%(‘S’ ‘mﬁoSt = 2 !A)Mt';“

T = CostT = siakg

HT’C”%) ” = mos{ +Costttsintt " \—2cost +\ = \ 2~ 2cost

@y = (1- «))T+ o) = 2% B U R(C TR Py yara et
'y = ot + =1 = =% -
Mrye A= 0f - %

2. Given the acceleration function ;z(l) =sinzi— / +t/c and initial conditions

V(O) 2] +k r(l) 47, find the velocity and position functions.
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